Ho
0J

35MPa

cmcCl-[][][]

o - >
. o
~ _ w S
[ee]
Q
o o n|lo | M © o
o Q| ~N | m | w X v S o
= S| — Y © 1 o A o 0 O
= N7 RN =
= ar _.___. O
T 0 .
" .. " ™ 2 =3
! o 3
I o<l - o @
= [~}
o r..\\-
\ N w18 g
ol o)) —
- 4 <Fo =S 0 ®
YUBBE0E00E ©n S ™ = 2 g
< — 7 . — ~N -
o o | o | Y A o ™M (]
(] n| o o« m | X n o 2 o & =
s ol =]lm| n || -] & < > °
U o A n s X o |
=t - - . a G
: HEHE :
~ 0
L LA wl
" ) 3 - ST
= S B
= =
50 L N ™~ 2 mr:: W
K 2 - S H0 ot
= O 5 o) <
5 B ) _ L
5 2 S o S| ® o o wm RAR SN S o ol N
n oD L s - c|lo|a | m| L | — o] 0 m 2 h
= = ® - © L n
B 4 s S -~ 5 e
110 ~ ) H
e} —
4w o i = = kL =
= i o Ir.D -
0 m~ — o o N ) Ol
T _ S sl s M
i _ & ° —_
wl = m o N .o~ wA. EOJ L P - T ns ol K-
W S S - © ° |- &5 ®» o S g ..WJ N = ol w Ul ~
Sa s o Q0 = X = A S
= =B o S =0 i)
o = 2 " I “ S R A
o ol e o o o ol = ™
W ow W * o2 o
z o0 "0
Wy W = ElT £t Z2 2 el & &V Ko 00 g5 <l
< @ & IS e O 1= O =z = = =< =
TS © | © 3 moau =
- = o © a o H o <
ol = 2 2 = = U = = .__._
w X M _ m|lEl%|8a]|x JZ of
z 2« <r AR RES m L W
- & & | e | a1 & | 2 2 E - o
TS ) Ok | Ok | oF | OF | = - a0 mw i ar % 0
of W I+ R W | = s
o A" ’r W | o = e @ ol =
= D Ero m _ om0 | 3 @0 | oo | M RO | 80 | 8D | oOF | ® W__ ] M
W A M e S - - e I i 0 B S R
| Wy X wlu @ 5| e o Y= w ko oo P
< 20 O TR = v A S T - 7 - - o o B )
PR
B g
= )
o : -




cmcl-L]0LI0] ZA e 35MPa tt=
A H Al
AHOI = AEZT oA A0 -ATHE
01 5 10 15
03 5 10 15
04 5 10 15 20
06 5 10 15 20 SIE LIAFE (EF) 228 :NBR(EE)
CMC 10 — 5 1015 25
20 10 15 20 32 R :2t2CE% e =402
(CMC10-20-40+602 H 2l)
25 12 20 32
40 16 25 40
- 16 25 40 X %iﬁlé’j‘%ﬂiﬂ-ﬂ%/&%’
(Max.150°0)2 2 M, 2402
£ ME5t UYSLICH
P = +zuazaun
At &
8 A CMC10 CMC20 CMC25 CMC40 CMC60
~E23 mm | 5 10 15 25 10 15 20 32 12 20 32 16 25 40 16 25 40
S 9243 5MPa 13 2.6 3.1 5.1 7.5
2o | ReE7MPa 2.6 5.4 6.6 10.6 15.8
N S o2 25MPa 9.7 19.8 24.4 393 58.6
S92 35MPa 13.7 27.9 343 55.2 824
MRHBY H A 2 F=0.394XP-0.129 | F=0.804XP-0.255 | F=0.990xP-0323 | F=1590XP-0485 F=2.376XP-0.790
2Ry mm 224 32 355 45 55
NETELE cm? 3.94 8.04 9.90 15.90 23.76
S L/min 1.18 2.41 2.97 477 7.13
spHEY cm® 20 39 59 99 80 120 160 20.1 11.9 19.8 31.7 254 39.8 63.6 38.0 59.4 95.0
Rl Amee N 97~160 200~310 240~405 370~600 570~1010
= kg 024 030 035 0.60 0.63 0.78 0.91 1.38 0.81 1.02 136 1.45 1.8 246 2.59 323 43
=MARNZEST N-m 110 270 360 620 1160
AgsgsHs MPa 1~35
B MPa 52.5
NEEE Y ‘C 0~70
NELS! LU BSAHRER (1S0-VGI2A S
1Ml 562 AE23 ZAAXN WA LU
%2 F=& 21 Z2(KN), P=Al 2 2 224 (MPa)
X3 REHATYHAS [AS SIAS~AEHO S LIEHHLICH

CADOIOIE S O22CE -2AMFEE MTAZESHO X2 www.pascaleng.co.jp

>=4H

Lz

CMC

291



cCMC[ -1 ][I ZA Aeld 35MPa ©=
QEX=
M1 oA
o
= =
oB
2J2
i =
a= b )
2 T
S -
LEAFM2 5 ~
a
(W)
cMC }% -
og oC
LIAE ct2Ed
mm
g Al CMCO1 CcMCO03 cMCo4 CcMCo6
rE23 510 15 5 10 15 5. 10 15 20 510 15 20
o A 15.5 24 26 33
0B 8 12 14 18
oC 14.3 20.3 233 28.3
D1 31 41 50 31 41 | 515 36 | 47 | 58 | 68 | 405 515 625 725
D2 27 | 37 | 46 | 27 | 37 | 475 31 | 42 | 53 | 63 | 34 | 45 | 56 | 66
ET 5.5 7 8.5 10
E2 15 3 35 35
F 6 8 9 10.5
G 195 295 385 16 | 26 | 365 185| 295 405 505 20 31 | 42 | 52
H (82001 =) 14 22 24 30
n (oe=) 7 10 12 14
012 7.5 1 13 17
K (01p1= 45 5.5 6.5 7.5
L 16 20 25 32
M1 M5X0.8 2008 M6X1 2016 M6X1 200(11 M8X1.25 200113
M2 M16X1.5 M22X1.5 M25% 1.5 M30X1.5
oN 14.5 20.5 235 28.5
p 12 13 14 15
R 19 | 29 38 | 155 255 36 | 18 29 | 40 | 50 | 195 305 415 515
05 5 8 10 14
T 7 7 7 7
U 6 6 6 6
0 (ZZHs90) AS568-012 AS568-015 AS568-016 AS568-019
292 29 IHAZI20N(F)2 TEL. 055-274-0971 E-Mail. : korea@pascaleng.co.jp




cCMC[ -1 ][I ZA Aeld 35MPa ©=
QEX=
FEEIISE
2eCHo MASE MBS ZE HRCS4QLICH
LEAEM2
< oN g’ Sx2S HEE RS BICA DIASHEO OHES ALSCOR
DEMA DNASO SHYNS 3 02, MLH TAAQ. S22 21 4
> Zé EHOIM, 9201 O SIRKSS 0123 MBS, BHE 6tX DHAAIS.
= 1
s | e é ZE2 Fos Zos, ZUK-HBEE (HE0Y)0 S8oE =g
| | Of ASLICH A Al= —296-297H 0| XIS &HEGH =&AL,
L—JM DAS0 HASEO0IL S8 0l2l0 80l KIS ARSI 0HY g%
S N2 TAE mo folol FLith o
model CMC[]
FHE QOIHAN, QU DEE XI| SHES ot 200, HRLAOI 00f
s % ob & MEBOAES S0l SOH6tIl ASLICH HOHIIIS S20| A
mode'CSPD\ 3101, XU SB2R A FAUAR
- | L
/ } I CMC
o=
model CMH[I-C
mm
g Al cMC10 CMC20 CcMC25 CMC40 CMC60
rE23 510 15 25 10 15 20 32 12 20 32 | 16 25 40 16 25 40
o A 40 50 55 66 80
0B 22.4 32 35.5 45 55
oC 343 46 52.6 62.6 77.6
D1 445 545 66.5 87.5 67.5 80.5 92 118.5 67 @ 81.51045 79 94 122 89 107 138
D2 36.5 465 585 795 57 | 70 | 81.5108 | 56 | 70.5 93.5 65 | 80 108 | 76 & 94 125
ET 12 16 17.5 215 20
E2 4 5.5 6.5 7.5 7
F 12.5 14 15 17 15
G 20 30 | 42 | 63 | 375 50.5 62 885 345 49 | 72 405 555 835 54 | 72 101
H (82001 =) 36 46 50 60 75
n (ore=) 19 27 30 36 41
012 21.4 30 32,5 43 52
K (0l2t=) 9.5 12.5 13.5 15.5 17
L 40 50 60 70 80
M1 M8X1.25 210113 M12X1.75 200118  M12X1.75 210118 M16X2.0 210118 | M20X2.5 20122
M2 M36X1.5 M48X 1.5 M55% 2.0 M65X 2.0 M80X 2.0
oN 34.5 46.5 53 63 78
p 17 20 24 27 29
R 19.5 29.5 41.5 625 37 | 50 | 61.5 88 | 335 48 | 71 40 55 83 | 535 7151005
05 19 26 34 44 56
T 7 7 10 10 10
U 6 6 9 9 9
0 (ZZHs90) AS568-022 AS568-126 AS568-129 AS568-135 AS568-143
CADGIOIEHS URIE -FHAFEE=s DIIAZLEHO X2 www.pascaleng.co.jp 203




